
1 

 

�$��/&� 

�5447>7<G5E><< E>65F>< 

����' 45FE>>7> E444 7 12  

�56E>>7> D4=>=4 %4=>F-�5F5D5GD74 

(?D>F>>>? 7 2 >F 29.12.2023 7.) 

 

% GG5F>< <=5=<O E>65F4 D>4<F5?5=  

(?D>F>>>? 7 2 >F 28.12.2023 7.) 

           '&��$����� 

�D<>47 7 153 >F 25.12.2023 7. 

 �4654GNM<= ����' 4/E 7 12 

 

 

____________&.�. 'GDE<=4 

                                                           

 

 

 

 

 

 

�>?>?=<F5?L=4O >5M5D476<64NM4O ?D>7D4<<4  

«�4=<<4F5?L=4O <4F5<4F<>4» 
 

 

 

 

 

%D>> >E6>5=<O: 1 7>4  

  �>7D4EF GG4M<EEO: 4-5 ?5F 

 

 

 

 

 
 
 
 
 

$47D45>FG<>: 
�O?5=>> �4F4?LO �?44<<<D>6=4, 

?5447>7 4>?>?=<F5?L=>7> >5D47>64=<O 

 

 

 

 

 

 

%4=>F-�5F5D5GD7 

                 2023 7. 



2 

 

�7?46?5=<5 
1. &5?56>= D4745? 
    �>OE=<F5?L=4O 74?<E>4 

    �>FG4?L=>EFL 

    &5?< < 7444G< 

    �F?<G<F5?L=O5 >E>55==>EF< 

    'E?>6<O D54?<74F<< 

    �?4=<DG5<O5 D57G?LF4FO 

    'G55=O= ??4= 

    �4?5=44D=O= -GG55=O= 7D4D<> 

2. $45>G4O ?D>7D4<<4 
          �4?5=44D=>-F5<4F<G5E>>5 ??4=<D>64=<5 =4 2023-2024 7. (?D<?>65=<5 71) 

3. �D74=<74F<>==O= D4745? 
     �D74=<74F<O >DG6>>6>= 45OF5?L=>EF< 

�E?>?L7G5<O= <4F5D<4? ?D< D45>F5 

4. %?<E>> ?<F5D4FGDO 
 

 
 

 

 

 
 
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



3 

 

1. �>OE=<F5?L=4O 74?<E>4 
 

�4?D46?5==>EFL 

 

�>?>?=<F5?L=4O >5M5>5D47>64F5?L=4O >5M5D476<64NM4O ?D>7D4<<4 «�4=<<4F5?L=4O 

<4F5<4F<>4» 4?O 45F5= 4-5 ?5F ����' 45FE>>7> E444 7 12 >><5<=<D>64==>7> 6<44 (44?55 ?> 

F5>EFG �D>7D4<<4) <<55F E>F<4?L=>-?5447>7<G5E>GN =4?D46?5==>EFL < =>D<4F<6=O= ED>> 

>E6>5=<O 1 7>4. 

 

       �>FG4?L=>EFL ?D>7D4<<O. 
 
    %>6D5<5==O= >>DG64NM<= D555=>4 <<D =>E<F ?>EF>O==> <7<5=ONM<=EO, 4<=4<<G5E><= 

E4D4>F5D. '65 6 4>L>>?L=>< 6>7D4EF5 D555=>> 4>?65= ?>?GG<FL F4><5 7=4=<O, G<5=<O < =46O><, 

>>F>DO5 ?>76>?<?< 5O 5<G GE?5L=> 444?F<D>64FLEO > =>6O< GE?>6<O< E>F<G<4. 

    �<5==> E?>65E=>-?>7<G5E>>5 <OL?5=<5 O6?O5FEO 6OEL5= EF44<5= 45FE>>7> D476<F<O. 

�>EF<65=<5 MF>= EF44<< 3 4?<F5?L=O= < E?>6=O= ?D>F5EE, F.>. ?>?=>F5==>5 D476<F<5 ?>7<G5E>>7> 

<OL?5=<O FD55G5F =5 F>?L>> 6OE>>>= 4>F<6=>EF< G<EF65==>= 45OF5?L=>EF<, => < >5>5M5==OE 

7=4=<= >5 >5M<E < EGM5EF65==OE ?D<7=4>4E ?D54<5F>6 < O6?5=<= 45=EF6<F5?L=>EF<. �=>7<5 45F< 

<E?OFO64NF 74FDG4=5=<O ?D< GE6>5=<< <4F5<4F<G5E><E 7=4=<= 6 45FE>>< E44G, 4 74F5< < 6 L>>?5. 

�D<G<= MF><G <=>7>. �4=4 <7 =<E, 6>7<>6=>, =4<5>?55 E5DLU7=4O, E>EF><F 6 F><, GF> >=< 5OEFD> 

F5DONF <=F5D5E > GGU55, > E4<><G ?D54<5FG 3 <4F5<4F<>5, 74 EG5F EF4=44DF=>= «EGE>= < E>GG=>=» 

<5F>4<>< >5GG5=<O. �>F5DO <=F5D5E4 > GG5=<N, >6?445=<N <4F5<4F<>>= 654UF > E5DLU7=O< 

?>E?54EF6<O<: D4EFUF G<E?> =5GE?564NM<E, 4 E4< ?D54<5F >465FEO 45FO< =54>EFG?=O<. �>6OE<FL 

MF>F <=F5D5E ?><>65F ?D<>5D5F5=<5 =46O>4 ?>7<G5E>>7> <OL?5=<O, E?>E>5=>EFL «45=EF6>64FL 6 

G<5». $555=>G, =5 >6?4456L5<G ?D<5<4<< ?>7<G5E>>7> <OL?5=<O, FDG4=55 5G45F D5L4FL 7444G<, 

6O?>?=5=<5 G?D46=5=<= ?>FD55G5F 5>?LL<E 74FD4F 6D5<5=< < E<?. � D57G?LF4F5 <>65F ?>EFD444FL 

74>D>6L5 D555=>4, >E?45=5F <?< 6>6E5 G74E=5F <=F5D5E > GG5=<N. 

�6?4456 ?>7<G5E><<< >?5D4F<O<<, D555=>> 5G45F 5>?55 6=<<4F5?L=O<, =4GG<FEO <OE?<FL OE=> < 

G5F>>, EG<55F 6 =G6=O= <><5=F E>>=F5=FD<D>64FLEO =4 EGF< ?D>5?5<O. 'G<FLEO EF4=5F ?57G5, 4 

7=4G<F, < ?D>F5EE GG55O, < E4<4 L>>?L=4O 6<7=L 5G4GF ?D<=>E<FL D44>EFL < G4>6?5F6>D5=<5. 

�D>7D4<<4 =4F5?5=4 =4 >5M55 74D<>=<G5E>>5 D476<F<5, 4 5U E>45D64=<5 < D>D<O <>7GF 

>>=>D5F<7<D>64FLEO 6 746<E<<>EF< >F 6>7<>6=>EF< 45F5=   

 

�F?<G<F5?L=O5 >E>55==>EF<. 

   �D>7D4<<4 E>744=4 4?O F>7>, GF>5O D476<FL <=F5D5E > ?>7<G5E><< >?5D4F<O< < D4EL<D<FL 

<4F5<4F<G5E><5 7=4=<O< G 6E5E 45F5=. �E>5>5 6=<<4=<5 G45?<FL F5< 45FO<, >>F>DO5 =5 >G5=L 

GE?5L=O 6 MF>< >F=>L5=<< < << =G6=> ?><>GL >5D5EF< GG6EF6> G65D5==>EF< 6 E6><E E<?4E, ?GFU< 

?>45>D4 4?O =<E F4>>7> <4F5D<4?4, 6 >>F>D>< ?D>O6OFEO E>DOFO5 6>7<>6=>EF< D55U=>4, 57> 

<=4<6<4G4?L=O5 >E>55==>EF<, F5< E4<O< E>74464O E<FG4F<N GE?5E4 4?O >464>7>.  

   �E5 D4745?O ?D>7D4<<O >5N54<=O5F <7D>6>= <5F>4 ?D>6545=<O 74=OF<= G5D57 D5L5=<5 

74=<<4F5?L=OE 7444G, EF4D<==OE 7>?>6>?><>>, G<E?>6OE >GDLU7>6, ?45<D<=F>6. �7D>6>= <5F>4 

?D<44UF 74=OF<N ?D<6?5>4F5?L=GN D>D<G, >5?57G45F ?D>F5EE 74?><<=4=<O < >E6>5=<5 7444=<=, 

?>6OL45F M<>F<>=4?L=O= D>= 74=OF<=, E?>E>5EF6G5F D476<F<N ?>7<G5E>>7> <OL?5=<O, 

6>>5D465=<O < F6>DG5E><E E?>E>5=>EF5= D55U=>4.  

    �D>7D4<<4 >D<5=F<D>64=4 ?D5645 6E57> =4 ?D4>F<G5E>GN D54?<74F<N 7444G 6E5EF>D>==57> 

6>E?<F4=<O D55U=>4 < D476<F<O 57> F6>DG5E><E E?>E>5=>EF5= =4 L<D>>>= <=F57D<D>64==>= >E=>65, 



4 

 

>>F>D4O ?D54?>?4745F >5N54<=5=<5 7444G >5GG5=<5 45F5= <4F5<4F<>5, 6 F>< G<E?5 < ?>7<>5 E 

E>45D64=<5< 4DG7<E >><?>=5=F>6 4>L>>?L=>7> >5D47>64=<N. 

 

&5?< < 7444G< ?D>7D4<<O. 
&5?L ?D>7D4<<O - D>D<<D>64=<5 G 45F5= <=F5D5E4 > <7GG5=<N <4F5<4F<><, D476<F<5 G<EF65==OE 

E?>E>5=>EF5=, E<5>4?><, E>>5D47<F5?L=>EF<. $476<64FL G<5=<O E4<>EF>OF5?L=>, >EGM5EF6?OFL 

?><E> E?>E>54 D5L5=<O, F6>DG5E>>5 < ?D>EFD4=EF65==>5 6>>5D465=<5, ?>7<G5E>>5 < <=FG<F<6=>5 

<OL?5=<5. 

�E=>6=O5 7444G< 
 �5GG4NM<5: 
      " D>D<<D>64FL <>F<64F<< GG5=<O, >D<5=F4F<N =4 G4>6?5F6>D5=<5 ?>7=464F5?L=OE  

         <=F5D5E>6, D44>EFL F6>DG5EF64. 

÷ �5GG4FL 45F5= >E=>6=O< ?>7<G5E><< >?5D4F<O<: 4=4?<7G, E<=F57G, ED46=5=<N, >FD<F4=<N, 

>?4EE<D<>4F<<, E<EF5<4F<74F<<, >7D4=<G5=<N, >5>5M5=<N, G<>74>?NG5=<O<. 

      " $4EL<DOFL =46O> E4<>EF>OF5?L=> >EGM5EF6?OFL ?><E> E?>E>54 D5L5=<O, >5GG5=<5  

            G4EF<G=><G ??4=<D>64=<N ?><E>4 6 G<5. 

" �=4>><<FL E> E?>E>54<< ?D5>5D47>64=<O, E>54<=5=<O 75><5FD<G5E><E D<7GD. 

" $>D<<D>64FL E?>E>5=>EF< 45EFD4>F=> ?>=<<4FL G<E?4, 7>F>6<FL > 6OG<E?<F5?L=>= 

45OF5?L=>EF<. 

" $4EL<DOFL 7=4=<O >5 M?5<5=F4E <7<5D<F5?L=>= 45OF5?L=>EF< 

" D>D<<D>64FL ?D>EFD4=EF65==>-6D5<5==O5 >F=>L5=<O; 

      " E?>E>5EF6>64FL G65?<G5=<N >5NU<4 6=<<4=<O < ?4<OF< 

$476<64NM<5: 
" D476<F<5 >5D47=>-64D<4F<6=>7> <OL?5=<O, D4=F47<<, 6>>5D465=<O, F6>DG5E><E, E5=E>D=OE < 

<OE?<F5?L=OE E?>E>5=>EF5=. 

"D476<F<5 D5G<, G<5=<5 4D7G<5=F<D>64FL E6>< 6OE>47O64=<O, EFD><FL ?D>EF5=L<5 G<>74>?NG5=<O 

" D>D<<D>64FL G<5=<O ??4=<D>64FL E6>< 45=EF6<O, >EGM5EF6?OFL D5L5=<5 6 E>>F65FEF6<< E 

7444==O<< ?D46<?4<< < 4?7>D<F<4<<, ?D>65DOFL D57G?LF4F E6><E 45=EF6<=. 

 
�>E?<F4F5?L=O5: 
" 6>E?<FO64FL   <=F5D5E > 74=<<4F5?L=>= <4F5<4F<>5; 
" 6>E?<FO64FL >G?LFGDG ?>6545=<O 6 >>??5>F<65, 4>5D>65?4F5?L=>5 >F=>L5=<5 4DG7 > 4DG7G 

" 6>E?<FO64FL EFD5<?5=<5 > ?D5>4>?5=<N FDG4=>EF5=, G65D5==>EFL 6 E555, G?>DEF6> 
" D>D<<D>64FL G<5=<5 ??4=<D>64FL E6>< 45=EF6<O, >EGM5EF6?OFL D5L5=<5 6 E>>F65FEF6<< E 

7444==O<< ?D46<?4<<, ?D>65DOFL D57G?LF4F E6><E 45=EF6<= 

 
'E?>6<O D54?<74F<< ?D>7D4<<O 

 

�>?>?=<F5?L=4O >5M5>5D47>64F5?L=4O >5M5D476<64NM4O ?D>7D4<<4 «�4=<<4F5?L=4O <4F5<4F<>4» 

O6?O5FEO ?D>7D4<<>= E>F<4?L=>-?5447>7<G5E>>= =4?D46?5==>EF<, >G=>= D>D<O >5GG5=<O. �4=OF<O 

?D>6>4OFEO =4 >><<5DG5E>>= >E=>65, 6 >DG6>> ?D<=<<4NFEO 6E5 65?4NM<5 45F<, =4 >E=>65 

74O6?5=<O D>4<F5?O (74>>==>7> ?D54EF46<F5?O). 

�D54=47=4G5=4 4?O 45F5= 6 6>7D4EF5 4-5 ?5F, E>EF><F <7 32 74=OF<= 74 ?5D<>4 E 02.10.2023 ?> 

31.05.2024. 

�D>7D4<<4 ?D54?>?4745F ?D>6545=<5 >4=>7> 74=OF<O 6 =545?N 6> 6F>D>= ?>?>6<=5 4=O. 

�D>4>?6<F5?L=>EFL 74=OF<O >4<= 4>445<<G5E><= G4E. �5 5>?55 20 <<=GF. 

�4=OF<O ?D>6>4OFEO 6 7DG??>6>= D>D<5, =4?>?=O5<>EFL 7DG??O =5 5>?55 15 G5?>65> < >5NU<O 

GG55=>= =47DG7>< >?D545?5= E GG5F>< FD55>64=<O %4=�<�. 

�5D47>64F5?L=O= ?D>F5EE D57?4<5=F<DG5FEO GG55=O< ??4=>< < >4?5=44D=O< GG55=O< 7D4D<>><. 



5 

 

�4=OF<O ?> ?D>7D4<<5 «�4=<<4F5?L=4O <4F5<4F<>4» 4>L>>?L=>7> >5D47>64F5?L=>7> GGD5645=<O 

?D>6>4OFEO 6 >45<=5F5 4>?>?=<F5?L=>7> >5D47>64=<O E E>5?N45=<5< F5E=<>< 557>?4E=>EF<, ?>4 

DG>>6>4EF6>< 6>E?<F4F5?O. 

 

 

�?4=<DG5<O5 D57G?LF4FO:  

�D54<5F=O5 D57G?LF4FO 

� D57G?LF4F5 >E6>5=<O 44==>= ?D>7D4<<O ?D54?>?4745FEO, GF> GG4M<5EO >6?445NF: 

" G<5=<O<<  ?D><76>4<FL >?5D4F<< =44 <=>65EF64<< (ED46=5=<5, D475<5=<5, >?4EE<D<>4F<O, 

45EFD47<D>64=<5, 6=<<4F5?L=> E?GL4FL < D5L4FL ?D>EF5=L<5 7444G<, 6O45?OO ?D<7=4>< 

?D54<5F>6), E>EF46?OFL F5?>5 <7 G4EF5=; 

" =46O>4<< >5>5M5=<O >5N5>F>6 ?> <E E6>=EF64<, >5NOE=OFL EE>4EF64 < D47?<G<O >5N5>F>6, 

>5>E=>6O64FL E6>< D4EEG645=<O, E<EF5<4F<7<D>64FL < >?4EE<D<F<D>64FL 75><5FD<G5E><5 D<7GDO; 

"E?>E>54<< >D<5=F<D>64FLEO 6 ?D>EFD4=EF65;  

"G<5=<O<< D4=F47<D>64FL, <>45?<D>64FL, >>=EFDG<D>64FL; 

"7=4=<O<< ?>?L7>64=<O EE5<>= (>>=EFDG<D>64FL ?> EE5<5 < 557 =5U); 

".=4G4?L=O<< ?>7<G5E><<< 7=4=<O<< 6 D5L5=<< 74=<<4F5?L=OE 7444G. 
 
�5F4?D54<5F=O5 D57G?LF4FO 

'G4M<5EO D47>6LNF E?>E>5=>EF<:  

" >?D545?OFL < D>D<<D>64FL F5?L 45OF5?L=>EF< =4 74=OF<5 

" D45>F4FL ?> ?D54?>65==><G ??4=G 

" >F?<G4FL 65D=> 6O?>?=5==>5 7444=<5 >F =565D=>7> 

" 4464FL M<>F<>=4?L=GN >F5=>G E>5EF65==>= < >>??5>F<6=>= 45OF5?L=>EF<  

" >D<5=F<D>64FLEO 6 E6>5= E<EF5<5 7=4=<=: >F?<G4FL =>6>5 >F G65 <765EF=>7>, ?5D5D454FO64FL 

?>?GG5==GN <=D>D<4F<N 
" 6OD464FL E6>< <OE?< < EG645=<O ?D< ?><>M< F>G=>= < OE=>= D5G<.  
" E?GL4FL < ?>=<<4FL D5GL 4DG7<E, E>6<5EF=> 4>7>64D<64FLEO > ?D46<?4E >5M5=<O < ?>6545=<O 

 

�<G=>EF=O5 D57G?LF4FO: 

' GG4M<EEO ED>D<<DG5FEO: 

" F5?>EF=O= 677?O4 =4 >>DG64NM<= <<D 

" >5M<F5?L=>EFL, G65D5==>EFL, <=<F<4F<6=>EFL, FDG4>?N5<5  

" G GG4M<EEO 5G45F ED>D<<D>64=4 <>F<64F<O > GG55=>= 45OF5?L=>EF< 
 

 

 

 

 

 

 

 



6 

 

'G55=O= ??4= 

(4-5 ?5F) 

�5F< (4-5?5F)7 $4745?/ &5<4 �>?-6> G4E>6 $>D<O >>=FD>?O 

F5>D<O ?D4>F<>4 6E57> 

    �>FO5DL 
1 

«%>EG<F4=» 

0,3 0,7 1 'EF=O= 

>?D>E,55E544,=45?N45=<5,4=4?<7 

?D>4G>F<6=>= 45OF5?L=>EF<, 

D5D?5>E<O 

2 

«%?>6< G7>D» 

«�>D>6>4» 

«�644D4F» 

0,3 0,7 1 'EF=O= 

>?D>E,55E544,=45?N45=<5,4=4?<7 

?D>4G>F<6=>= 45OF5?L=>EF<, 

D5D?5>E<O 

3 
«%?>6< G7>D» 

 

«�>6D<>» 

«&D5G7>?L=<>» 

0,3 0,7 1 'EF=O= 

>?D>E,55E544,=45?N45=<5,4=4?<7 

?D>4G>F<6=>= 45OF5?L=>EF<, 

D5D?5>E<O 

4 «�?>>< 

�L5=5L4» 

«$4745?< 

5?>><» 

0,3 0,7 1 'EF=O= 

>?D>E,55E544,=45?N45=<5,4=4?<7 

?D>4G>F<6=>= 45OF5?L=>EF<, 

D5D?5>E<O 

      �>O5DL 
1 

�>45?<EL 

?>D>6=G 

0.3 0,7 1 'EF=O= 

>?D>E,55E544,=45?N45=<5,4=4?<7 

?D>4G>F<6=>= 45OF5?L=>EF<, 

D5D?5>E<O 

     'EF=O= 

>?D>E,55E544,=45?N45=<5,4=4?<7 

?D>4G>F<6=>= 45OF5?L=>EF<, 

D5D?5>E<O 

2 
«%?>6< G7>D» 

 

«�><» 

«�>=>» 

0,3 0,7 1 'EF=O= 

>?D>E,55E544,=45?N45=<5,4=4?<7 

?D>4G>F<6=>= 45OF5?L=>EF<, 

D5D?5>E<O 

3 «%?>6< G7>D» 

 

«%4<>?5F» 

«�>4>G>4» 

0,3 0,7 1 'EF=O= 

>?D>E,55E544,=45?N45=<5,4=4?<7 

?D>4G>F<6=>= 45OF5?L=>EF<, 

D5D?5>E<O 

4 
«%?>6< G7>D» 

0,3 0,7 1 'EF=O= 

>?D>E,55E544,=45?N45=<5,4=4?<7 



7 

 

 

«�?>G>4» 

«&GD5?L>4» 

?D>4G>F<6=>= 45OF5?L=>EF<, 

D5D?5>E<O 

     �5>45DL 
           1 

«�4?>G>< 

�N<75=5D4» 

 

«�>574» 

0,3 0,7 1 'EF=O= 

>?D>E,55E544,=45?N45=<5,4=4?<7 

?D>4G>F<6=>= 45OF5?L=>EF<, 

D5D?5>E<O 

2 «%?>6< G7>D» 

«$>=4D<>» 

 «�4FGL>4» 

0,3 0,7 1 'EF=O= 

>?D>E,55E544,=45?N45=<5,4=4?<7 

?D>4G>F<6=>= 45OF5?L=>EF<, 

D5D?5>E<O 

3 «%?>6< G7>D» 

«�>7?<>» 

«�45>G>4» 

«�>=D5F4» 

0,3 0,7 1 'EF=O= 

>?D>E,55E544,=45?N45=<5,4=4?<7 

?D>4G>F<6=>= 45OF5?L=>EF<, 

D5D?5>E<O 

4 «%?>6< G7>D»  

 

«�5DFGL>4» 

«�4D>5F» 

«�>D>=4» 

0,3 0,7 1 'EF=O= 

>?D>E,55E544,=45?N45=<5,4=4?<7 

?D>4G>F<6=>= 45OF5?L=>EF<, 

D5D?5>E<O 

     /=64DL 
          1 

«%>E54< 

G<E5?» 

0,3 0,7 1 'EF=O= 

>?D>E,55E544,=45?N45=<5,4=4?<7 

?D>4G>F<6=>= 45OF5?L=>EF<, 

D5D?5>E<O 

2 
«�>?>6>?><>4 

�<D47>D4» 

«-5=>>» 

«�>F5=>>» 

0,3 0,7 1 'EF=O= 

>?D>E,55E544,=45?N45=<5,4=4?<7 

?D>4G>F<6=>= 45OF5?L=>EF<, 

D5D?5>E<O 

3 «�>?>6>?><>4 

�<D47>D4» 

 

«�><<>» 

«�F<F4» 

0,3 0,7 1 'EF=O= 

>?D>E,55E544,=45?N45=<5,4=4?<7 

?D>4G>F<6=>= 45OF5?L=>EF<, 

D5D?5>E<O 



8 

 

«$O5>4» 

 

4 
«�>?>6>?><>4 

�<D47>D4» 

«%65G4» 

«&65F>>» 

0,3 0,7 1 'EF=O= 

>?D>E,55E544,=45?N45=<5,4=4?<7 

?D>4G>F<6=>= 45OF5?L=>EF<, 

D5D?5>E<O 

    $56D4?L 
          1 

«'5F65DFO= 

?<L=<=» 

 

0,3 0,7 1 'EF=O= 

>?D>E,55E544,=45?N45=<5,4=4?<7 

?D>4G>F<6=>= 45OF5?L=>EF<, 

D5D?5>E<O 

2 «&4=7D4<» 

«'FN7» 

«�>D>=4» 

0,3 0,7 1 'EF=O= 

>?D>E,55E544,=45?N45=<5,4=4?<7 

?D>4G>F<6=>= 45OF5?L=>EF<, 

D5D?5>E<O 

3 

«&4=7D4<» 

«'4==<>» 

«�>D>=4» 

0,3 0,7 1 'EF=O= 

>?D>E,55E544,=45?N45=<5,4=4?<7 

?D>4G>F<6=>= 45OF5?L=>EF<, 

D5D?5>E<O 

4 
«&4=7D4<» 

«�4OF» 

«�GEL» 

«'5?>65>» 

0,3 0,7 1 'EF=O= 

>?D>E,55E544,=45?N45=<5,4=4?<7 

?D>4G>F<6=>= 45OF5?L=>EF<, 

D5D?5>E<O 

         �4DF 
  1 

«$47=O5 

D<7GDO» 

0,3 0,7 1 'EF=O= 

>?D>E,55E544,=45?N45=<5,4=4?<7 

?D>4G>F<6=>= 45OF5?L=>EF<, 

D5D?5>E<O 

2 

«%D<=>E» 

«�<E<F4» 

«�?>4» 

0,3 0,7 1 'EF=O= 

>?D>E,55E544,=45?N45=<5,4=4?<7 

?D>4G>F<6=>= 45OF5?L=>EF<, 

D5D?5>E<O 

3 «%D<=>E» 

«�F<F4» 

«�>D45?<>» 

0,3 0,7 1 'EF=O= 

>?D>E,55E544,=45?N45=<5,4=4?<7 

?D>4G>F<6=>= 45OF5?L=>EF<, 

D5D?5>E<O 

4 «%D<=>E» 

«'5?>65>» 

0,3 0,7 1 'EF=O= 

>?D>E,55E544,=45?N45=<5,4=4?<7 

?D>4G>F<6=>= 45OF5?L=>EF<, 



9 

 

«$4>5F4» 

«%4<>?5F» 

D5D?5>E<O 

      �?D5?L 
          1 

«%D46=< ?> 

65?<G<=5» 

 

0,3 0,7 1 'EF=O= 

>?D>E,55E544,=45?N45=<5,4=4?<7 

?D>4G>F<6=>= 45OF5?L=>EF<, 

D5D?5>E<O 

2 
«�>?G<5>6> 

O=F>» 

«&5?5D>=» 

«�>=L» 

0,3 0,7 1 'EF=O= 

>?D>E,55E544,=45?N45=<5,4=4?<7 

?D>4G>F<6=>= 45OF5?L=>EF<, 

D5D?5>E<O 

3 
«�>?G<5>6> 

O=F>» 

«�F<F4» 

'5D5?4E4» 

0,3 0,7 1 'EF=O= 

>?D>E,55E544,=45?N45=<5,4=4?<7 

?D>4G>F<6=>= 45OF5?L=>EF<, 

D5D?5>E<O 

4 «�>?G<5>6> 

O=F>» 

«�4DGE=<>» 

«�45GL>4» 

0,3 0,7 1 'EF=O= 

>?D>E,55E544,=45?N45=<5,4=4?<7 

?D>4G>F<6=>= 45OF5?L=>EF<, 

D5D?5>E<O 

�4= 
 1 

«'5FOD5 F65F4 

6D5<5=<» 

0,3 0,7 1 'EF=O= 

>?D>E,55E544,=45?N45=<5,4=4?<7 

?D>4G>F<6=>= 45OF5?L=>EF<, 

D5D?5>E<O 

2 
«�<EF<>» 

«�5FGL>>» 

«&D4>F>D» 

«�OL>4» 

0,3 0,7 1 'EF=O= 

>?D>E,55E544,=45?N45=<5,4=4?<7 

?D>4G>F<6=>= 45OF5?L=>EF<, 

D5D?5>E<O 

3  

«�<EF<>»          

«-5=>>» 

«�>D45?<>» 

«�<E4» 

 

 
0,3 

 
0,7 

 
1 

 

'EF=O= 

>?D>E,55E544,=45?N45=<5,4=4?<7 

?D>4G>F<6=>= 45OF5?L=>EF<, 

D5D?5>E<O 

4    

�444G< - LGF><  

 

0,3 0,7 1 'EF=O= 

>?D>E,55E544,=45?N45=<5,4=4?<7 

?D>4G>F<6=>= 45OF5?L=>EF<, 

D5D?5>E<O 

�&���  9,6 22,4 32  



10 

 

�������$�/� ''���/� �$�$�� 

D54?<74F<< 4>?>?=<F5?L=>= >5M5D476<64NM5= ?D>7D4<<O 

«�4=<<4F5?L=4O <4F5<4F<>4» 

�5447>7: �O?5=>> �4F4?LO �?44<<<D>6=4 

 

 

&5?L ?D>7D4<<O - D>D<<D>64=<5 G 45F5= <=F5D5E4 > <7GG5=<N <4F5<4F<><, D476<F<5 G<EF65==OE 

E?>E>5=>EF5=, E<5>4?><, E>>5D47<F5?L=>EF<. $476<64FL G<5=<O E4<>EF>OF5?L=>, >EGM5EF6?OFL 

?><E> E?>E>54 D5L5=<O, F6>DG5E>>5 < ?D>EFD4=EF65==>5 6>>5D465=<5, ?>7<G5E>>5 < <=FG<F<6=>5 

<OL?5=<5. 

�444G< 
�5GG4NM<5 7444G< 
÷ D4EL<D5=<5 ?>7=464F5?L=>7> <=F5D5E4 

÷ D>D<<D>64=<5 547<E=OE <4F5<4F<G5E><E ?D54EF46?5=<=; 

÷ ?D<>5D5F5=<5 >?OF4 6 GG55=>= 45OF5?L=>EF< 

 

$476<64NM<5 7444G<: 
÷ D476<F<5 G 45F5= <OE?<F5?L=OE >?5D4F<= (4=4?<7, ED46=5=<5, E>?>EF46?5=<5, 

?D>F<6>?>EF46?5=<5, >?4EE<D<>4F<O, >5>5M5=<5)   

÷D476<F<5 E?>E>5=>EF< 74?><<=4FL, 6>E?D><76>4<FL GE6>5==O= <4F5D<4?, 4>>47O64FL, D4EEG644FL 

÷ D476<F<5 ?>7=464F5?L=OE ?D>F5EE>6 (6>E?D<OF<5, 6=<<4=<5, ?4<OFL, 6>>5D465=<5); 

÷D476<F<5 =46O>>6 ?>7<G5E><E >?5D4F<= 

7 

7DG??O 

�>4 

>5GG5=<O 

�4F4 =4G4?4 

>5GG5=<O ?> 

?D>7D4<<5 

�4F4 

>>>=G4=<O 

>5GG5=<O 

?> 

?D>7D4<<5 

�>?<G5EF6> 

'G55=OE 

4=5= 

 

�E57> 

GG55=OE 

=545?L 

�>?<G5EF

6> G4E>6 

$56<< 74=OF<= 

    7 7D. 1 7>4 02.10.2023 31.05.2024 32 45=L 32 =545?< 32 G4E 1 D474 6 =545?N 

�> 1 

4>445<<G5E>><G 

G4EG (20 �<=GF) 

 

9 7D. 17>4 02.10.2023 31.05.2024 32 45=L 32 =545?< 32G4E 1 D474 6 =545?N 

?> 1 

4>445<<G5E>><G 

G4EG(20 �<=GF) 



11 

 

÷ D476<F<5 7D<F5?L=>-<>F>D=OE >>>D4<=4F<=, <5?>>= <>F>D<>< 

÷ D476<F<5 F6>DG5E><E E?>E>5=>EF5= < D4=F47<<, E?>E>5=>EF< > >>=EFDG<D>64=<N 

 
�>E?<F4F5?L=O5 7444G< 
÷ 6>E?<F4=<5 F5?5GEFD5<?T==>EF<, E>5D4==>EF<, D45>F>E?>E>5=>EF<, GG6EF64 >>??5>F<6<7<4; 

÷ 6>E?<F4=<5 G<5=<O E>?5D56<64FL 4DG7><G; 

÷ 6>E?<F4=<5 GG6EF64 F4>F4. 

 
 
�6<445<O5 D57G?LF4FO 
÷ >6?445=<5 E?>E>54<< 6O45?OFL E6>=EF64 ?D54<5F>6 ?> 6=5L=<< ?D<7=4>4< 

÷ D476<F<5 G<5=<= D475<64FL <=>65EF64 =4 ?>4<=>65EF64, E>?>EF46?OFL G4EFL < F5?>5 

÷ D>D<<D>64=<5 =46O>>6 ED46=<64FL ?D54<5FO ?> 4?<=5, L<D<=5, 6OE>F5, 6<5EF<<>EF< 

÷ >E6>5=<5 G<5=<= =4E>4<FL >5M<= ?D<7=4> E>6>>G?=>EF< ?D54<5F>6, E>EF>OM5= <7 2-3 

M?5<5=F>6, =4=F< 6 E>6>>G?=>EF< ?<L=<= M?5<5=F, ED46=<64FL E>6>>G?=>EF< ?D54<5F>6 ?GFU< 

E>EF46?5=<O ?4D < =4 >E=>65 MF>7> 3 ED46=<64FL G<E?4 6 ?D545?4E 5 

÷D4EL<D5=<5 =46O>>6 GEF4=46?<64FL E>5OF<O 6 ?D46<?L=>= ?>E?54>64F5?L=>EF<. 

÷E>65DL5=EF6>64=<5 ?D>EFD4=EF65==OE ?D54EF46?5=<= 

÷>5>74M5=<5 >?OF4 D4E?>7=464=<O 75><5FD<G5E><E D<7GD, =4E>645=<O 6 >>DG64NM5= >5EF4=>6>5 

?D54<5F>6, EE>4=OE ?> D>D<5 

÷ D4EL<D5=<5 =46O>>6 ?>?L7>64=<O 7=4>>6>= E<EF5<>= 

÷ >6?445=<5 E?>E>54<< ?>7<G5E><E >?5D4F<= 

 
�4?5=44D=>-F5<4F<G5E>>5 ??4=<D>64=<5 (E<. ?D<?>65=<5) 

3. �D74=<74F<>==O= D4745? 
 
�>7D4EF 45F5=, GG4EF6GNM<E 6 D54?<74F<< ?D>7D4<<O: ?D>7D4<<4 ?D54=47=4G5=4 4?O 45F5= 

ED54=57> 4>L>>?L=>7> 6>7D4EF4 (4-5 ?5F) 

�D>7D4<<4 D54?<7G5FEO 6 D>D<5 >DG6>>6>= D45>FO.  

%D>>< D54?<74F<< ?D>7D4<<O: ?D>7D4<<4 D4EEG<F4=4 =4 >4<= 7>4 >5GG5=<O. 

$>D<4 < D56<< 74=OF<=: D>D<4 >D74=<74F<< 74=OF<= 3 ?>47DG??>64O (>4=4 7DG??4 ?> 15 

G5?>65>). �4=OF<O ?D>6>4OFEO >4<= D47 6 =545?N (4 74=OF<O 6 <5EOF). �D>4>?6<F5?L=>EFL 74=OF<O 

3 20 <<=GF (?D< GE?>6<< G5D54>64=<O 6<4>6 45OF5?L=>EF<). 

 
�D74=<74F<O >5GG5=<O =4 74=OF<< 
 

�4=OF<O ?D>6>4OFEO >4<= D47 6 =545?N, ?D>4>?6<F5?L=>EFL 20 <<=GF. 
�E=>6=O< 6<4>< >5GG5=<O O6?O5FEO <7D>64O 45OF5?L=>EFL. '?D46=5=<O <7GG4NFEO 45FL<< 6 <7D>6>= D>D<5 

'5D57 4<44>F<G5E><5, D476<64NM<5 <7DO 45F< 7=4>><OFEO E M?5<5=F4<< 4D<D<5F<G5E>>=, 

75><5FD<G5E>>=, E<<6>?<G5E>>=, ?>7<G5E>>= ?D>?5456F<><.  

 
�D<<5D=O= ??4= >D74=<74F<< 74=OF<O 
  �>47>F>6<F5?L=4O G4EFL 3 6>?NG45F 66545=<5 6 <7D>6GN E<FG4F<N. =4 MF>< MF4?5 >EGM5EF6?O5FEO 

E<FG4F<>==> ?>47>F>6?5==>5 6>?NG5=<5 45F5= 6 ?>7=464F5?L=GN 45OF5?L=>EFL. -F> >7=4G45F, GF> =4G4?G 

74=OF<O 4>?6=4 ?D54L5EF6>64FL E<FG4F<O, <>F<6<DGNM4O 45F5= > 4<44>F<G5E>>= <7D5 (G?D46=5=<N). 

  �5F>4<G5E><5 >E>55==>EF<. �D>4>?6<F5?L=>EFL ?>47>F>6<F5?L=>= G4EF< >?D545?O5FEO 7444G4<< < 

E>45D64=<5< 74=OF<O, E>EF46>< 74=<<4NM<EEO < GD>6=5< <E ?>47>F>6><. �4 MFG G4EFL >F6>4<FEO ?D<<5D=> 

10-15% >5M57> 6D5<5=< 74=OF<O. 

  �E=>6=4O G4EFL 3 �444G4<< >E=>6=>= G4EF< O6?ONFEO: 4>FG4?<74F<O 7=4=<= < 6OO6?5=<5 

74FDG4=5=<O 6 <7D>6>= E<FG4F<<, >F>DOF<5 45FL<< =>6>7> E?>E>54 45=EF6<O, 6>?NG5=<5 =>6>7> 

7=4=<O 6 E<EF5<G 7=4=<= D55U=>4 < ?>6F>D5=<5. � 44==>= G4EF< >D74=<7G5FEO ?D54<5F=4O 



12 

 

45OF5?L=>EFL 45F5=, 6 >>F>D>= D4EL<DONFEO 7=4=<O, ?D54EF46?5=<O < <OE?<F5?L=O5 >?5D4F<<, 

=5>5E>4<<O5 4?O E?54GNM57> L474, <E?>?L7G5FEO ?>46>4OM<= 4<4?>7, >D74=<7G5FEO ?>EFD>5=<5 

=>6>7> 7=4=<O, 6>?NG45FEO D4EE?45?ONM<= <><5=F. 

  �5F>4<G5E><5 >E>55==>EF<. �4 44==GN G4EFL 74=OF<O >F6>4<FEO ?D<<5D=> 75-85% >5M57> 

6D5<5=<. �E6>5=<5 < >>DD5>F<D>6>4 =>6OE 7=4=<= ?D><EE>4<F 6 =4G4?5 >E=>6=>= G4EF<, 6 >>=F5 3 

>FD45>F>4 7=4>><>7> <4F5D<4?4. 

  �4>?NG<F5?L=4O G4EFL 3 ?>46545=<5 <F>7>6 74=OF<O. �E=>6=O5 7444G< 3?>46545=<5 <F>7>6 

74=OF<O, >FD465=<5 =>6OE 7=4=<= 6 GEF=>= D5G< < >E<OE?5=<5 45OF5?L=>EF< 45F5= =4 74=OF<<. �4 

MFG G4EFL >F6>4<FEO 5-10% >5M57> 6D5<5=. 

  �5F>4<G5E><5 >E>55==>EF<. � 74>?NG<F5?L=>= G4EF< ?D>6>4<FEO >D4F><= D475>D 4>EF<7=GFOE =4 

74=OF<< GE?5E>6 6 6O?>?=5=<< 7444=<=, GF> E>7445F G 45F5= GG6EF6> G4>6?5F6>D5=<O < 6O7O645F 

65?4=<5 E>65DL5=EF6>64FLEO. �4<5G4=<O < E>65FO ?> ?>6>4G =54>EF4F>G=> >E6>5==OE G?D46=5=<= 

?><>745F GG4M<<EO E>ED54>F>G<FL =4 =<E 6=<<4=<5 =4 E?54GNM5< 74=OF<<. 
�5F>4<G5E>>5 >55E?5G5=<5 

�<44>F<G5E><5 <4F5D<4?O 
4) <4F5<4F<G5E><5 D476?5G5=<O (G<E?>6O5 >GDLU7O, ?45<D<=FO, 7444G<-LGF><,) 

5) <4F5<4F<G5E><5 <7DO-7>?>6>?><>< («&4=7D4<», «�<D47>D», «�>?G<5>6> O=F>», «�<EF<>», 

«%?>6< G7>D») 

6) D476<64NM<5 ?>7<G5E><5 <7DO �.�. �<><F<=4, �.�.�>E>>5>6<G4, (4<44>F<G5E><5) <7DO («�?>>< 

�LU=OL4», «�4?>G>< �LN7<=5D4») < G?D46=5=<O 

- F65F=O5 < ?D>EFO5 >4D4=44L<, 4?L5><=O5 ?<EFO  

- >4DF>F5>< 74744>>, EF<E>F6>D5=<=, E>>D>7>6>D>>, EG<F4?>>, D<7<<=GF>> 

 

&5E=<G5E>>5 >E=4M5=<5: 

->45<=5F 4>?>?=<F5?L=>7> >5D47>64=<O 

- <47=<F=4O 4>E>4. 

- 45<>=EFD4F<>==O= <4F5D<4? 

- D4744F>G=O= <4F5D<4? 6 E>>F65FEF6<< E >E=>6=O<< F5<4<< >5GG5=<O  

- =45>DO >4DF>G5> 

- GG45E=O= <5L>G5> 

- <7DGL><-?5DE>=46< 

- ?D54<5F=O5 >4DF<=>< 

- EN65F=O5 >4DF<=>< E <7>5D465=<5< G4EF5= EGF>>, 6D5<U= 7>44 

- 7=4><-E<<6>?O 

- 75><5FD<G5E><5 D<7GDO < F5?4 

- ?D>EF>= < F65F=O5 >4D4=44L< 

- 74=<<4F5?L=O= <4F5<4F<G5E><= <4F5D<4? <7 FD5E 7DG??: 

4) <4F5<4F<G5E><5 D476?5G5=<O (G<E?>6O5 >GDLU7O, ?45<D<=FO, 7444G<-LGF><,) 

5) <4F5<4F<G5E><5 <7DO-7>?>6>?><>< («&4=7D4<», «�<D47>D», «�>?G<5>6> O=F>», «�<EF<>», 

«%?>6< G7>D») 

6) D476<64NM<5 ?>7<G5E><5 <7DO �.�. �<><F<=4, �.�.�>E>>5>6<G4, (4<44>F<G5E><5) <7DO («�?>>< 

�LU=OL4», «�4?>G>< �LN7<=5D4») < G?D46=5=<O 

- F65F=O5 < ?D>EFO5 >4D4=44L<, 4?L5><=O5 ?<EFO  

 

 

 

 



13 

 

�<F5D4FGD4 

1. �D4?>64-�<E>4DU64 �.�. «$>D<<D>64=<5 M?5<5=F4D=OE <4F5<4F<G5E><E ?D54EF46?5=<= 6 

45FE>>< E44G». �.,2008 

2. �4E=<=4 �. «�4F5<4F<>4 4?O <4?OL5=». �.,2007 

3. �>E>>5>6<G �.�. «$476<64NM<5 <7DO 4?O 4>L>>?L=<>>6. %5>D=<> <5F>4<G5E><E 

<4F5D<4?>6». �.,2015 

4. �5?O6<=4 �.�., $<=>5?LLF5== �.�. «�5F>4<G5E><5 E>65FO ?> <E?>?L7>64=<N 

4<44>F<G5E><E <7D E 5?>>4<< �L5=5L4&» %�5. 

5. �<E4=?>64 �.�. «�>7<>4 < <4F5<4F<>4 4?O 4>L>>?L=<>>6» �.,1999 

6. �<><F<= �.�. «%FG?5=L>< F6>DG5EF64, <?< D476<64NM<5 <7DO» �.,1989 

7. �>E>64  �.�., 

8. �5?><=OM4O $.�. «�>7<>4 < <4F5<4F<>4 4?O 4>L>>?L=<>>6». �,2001 

9. $<EF5D<4= &.�. «�5FO< > 6D5<5=<», �.,2006 

10. �?O5L564 �.�. «$476<F<5 ?>7<G5E>>7> <OL?5=<O < D5G< 45F5= 5-8 ?5F», �., 2005  

11. �4E=<=4 �. «�4F5<4F<>4 4?O <4?OL5=» �.,2007 

12. �5?>L<EF4O �.�. $>D<<D>64=<5 < D476<F<5 <4F5<4F<G5E><E E?>E>5=>EF5= 4>L>>?L=<>>6: 

�>?D>EO F5>D<< < ?D4>F<><. �GDE ?5>F<= 4?O EFG45=F>6 4>L>>?L=OE D4>G?LF5F>6 6OEL<E 

GG55=OE 746545=<=. 3 �: 2003. 

13. �5=75D�.�. < 4D. «�7DO < <7D>6O5 G?D46=5=<O ?>D476<F<N G<EF65==OE E?>E>5=>EF5= G 

45F5= 4>L>>?L=>7> 6>7D4EF4, �.,1999 

14. �>?<=4 «�4=<<4F5?L=4O <4F5<4F<>4 4?O 45F5=». �.,1989 

15. �>E>>5>6<G �, �, «$476<64NM<5 <7DO 4?O 4>L>>?L=<>>6». �.,2015 

16. �4F5<4F<G5E>>5 D476<F<5 4>L>>?L=<>>6: 'G55=>-<5F>4<G5E>>5 ?>E>5<5/%>EF. 

�.�.�<E4=?>64, �.�.�>?O>>64, $.�.�5?><=OM4O, �.�.�5D55=5F 3 %�5., 2000 

17. �<E4=?>64 �, �, «�>7<>4 < <4F5<4F<>4 4?O 4>L>>?L=<>>6». �.,1999 

18. �<E4=?>64 �.�., �>E>64 �.� < 4D. &5>D<< < F5E=>?>7<< <4F5<4F<G5E>>7> D476<F<O 45F5= 

4>L>>?L=>7> 6>7D4EF4. 3 %�5., 2008.  

19. �<><F<= �, �, «%FG?5=L>< F6>DG5EF64, <?< D476<64NM<5 <7DO». �.,1989 

20. �<M564 �.�. «�4DF>F5>< ?>46<6=OE <7D, G?D46=5=<=, D<7>G?LF<<=GF>>, ?4?LG<>>6>= 

7<<=4EF<><». �., 2016  

21. %>D>><=4 �.�. «�7DO < <7D>6O5 G?D46=5=<O 4?O D476<F<O D5G<», �., 2003 

22. &<E><<D>64 �.$. «'?D46=5=<O =4 >464O= 45=L: ?>7<>4 4?O 4>L>>?L=<>>6», /D>E?46?L, 

2000  

23. &><<?>64 %.�. «�>?=4O ED5EF><4F<O 4?O 4>L>>?L=<>>6 E <5F>4<G5E><<< ?>4E>47>4<< 4?O 

?5447>7>6 < D>4<F5?5=. �=<74 2». �., 2013  

24. ,64=>> �.%. «�7DO < <7D>6O5 G?D46=5=<O 4?O D476<F<O D5G< < G<4». �.,1998  

25. http://adalin.mospsy.ru/l_01_00/l_01_08e.shtml 

 


